EARAROBEEIERT — 2 N— IBISH —F

2018%F9A2H (H) 12E£R1H

LY Frs o057 AEwmsOtER B8 ¥5R3& [l w | EeEl - | v @) o E
[AE4£] 1% :250,000” ~ 23#%&:57,000 M  33&:30,000” . 437&:22,000MH . 57&:15,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. s . - _ —8 (&)
i 3| FLRTTF— i3 ?2%3%7\ 1.(3_4).3 1-1-1-1 [ 41.0 1 427 g%}gz (£R)
QAZ—Ea2-X BTU—KU—LX ) 1) saa-KL-vaEETs
2 4| TIWVRTZ N # 3 ;*%IE% 1:(355).3 2-3-32 |41.4| — | 3 :53) %%éz (&R)
Z:Z2y)—>ke—0-— B:2—0=7 T7=—ElNT7—L
. _ MEH . 67— - REREZ (&R)
31111 ST ) T4 — # 3 5%_0 1'(346)'] 6677 | 410 ! (5213) T(I?I) J P N$EHF
LNNVTTY BV TS Ta— ESHTT— L
R 8 MAHIES] : — 44— — £H—8 (£R)
al7lg| 3>/ —tE2-x 3 L 1.73%1 5-4-4-4 | 41.9 2 ?&7 e
LANZ—k1—X B:v H—/ FRE AR
P K — ft 3 | BREAH 1:36.4 8-9-8-8 | 41.0| — 6 452 | HE—tb (&R
555 Ty RIT—=TX 54.0 (11/2) +2) NCTIERS
LA vagHLyy BT vib B &*E
S 4 3 | BAK— 1:36.4 7-6-6-5 |41.5| — 1| 402 |EHEX (&R)
68|11 7~<~F ol (72%) @y | Fr-ZrEvar
x40 B:Ry K7z7VU— = e
s i 3 | RES 1:36.5 3-2-2-3 | 42.8| — 5 455 | JII7RBASL (£iR)
718110 TN TLAY 56?0 (1/2) 1) (R) J P N#LHft
R:F4—TTUSLT BH—HIIRTLH 2]z Le
5 > 4 3 | RRAA 1:36.8 11-11-10-9 | 40.9 | — 4 515 | BRIkt (£R)
8178 7‘#'7{7 PI% 56.0 (1 1/2) (+8) E(E]) JPN%E’}
%A T R—L B:2FA1RyL—X AL TINT7— L4
S, 40y S 3 | £HEE 1:37.6 10-10-11-11| 41. — 4 | @EHE— (£R)
9 6| ¥FTVITA # #53.0 ) 0 ° ’ (351) (&) JU—CELRE
RiFHAYTIIRE B:IIHTIAX [ntie)
= ;= # 3 | BIUIRFE 1:38.6 9-8-9-10 |43.0| — 9 425 | BRIt (£9R)
1wkl 2 | 77784735 56.0 ®) © | (B JP N
RiFkovH/xEF BivHHL-—X #HE ERM
. S, 4 3 | EALE 1:38.6 4-5-5-5 | 44.1| — 9 427 | =EFEE (&R)
1 7| ARy b3 —> £54.0 7€) (+3) T(Iﬁl) J P N
L:XGr Tt —Trp—K=K B:EZLXT) ot BHE BRI
® I —F—@EBIERL
13=7r= 3,4,10,7,9,1,11,5,2,6,8
2= = 3,10,4,9,7,(1,11),2,5,6,8
Jol=5r= 3,10,4,9,7,11,1,5,2,8,6
43—+— |3,4,10,9,(7,11),1,5,8,2,6
[ N3
BB 3 130H4 714K 3-4 200M % E 3-4 310 3EHE 1-3-4 2,740
8 B 3 110 =3 560M B 3-4 390M K31 3-4-1 5,680
4 140/ 1-4 1,660 B E 3-4 320M
1 170 B 3-4 350

ABICOVWTRDTEEERROODE. TR LIV,




